ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2024062

	TRACS	S No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
387	PN 002	F064201C	387-A-(206)T	103643	PINAL	SOUTHCENT	0		Jesmin Farhana

Highway Termini Location	Work Description
--------------------------	------------------

[•] CASA GRANDE-I 10-COOLIDGE HWY(SR 387) • Viola St and Pinal Ave

[•]INSTALL PEDESTRIAN HYBRID BEACON

Printed: 9/23/2025 Page 1 of 15

BID RESULTS FOR 2024062

Bid Opening Date: 8/8/2025, Prequalification Required, Engineer Specialist: Jesmin Farhana

Completion Date:

210 Working Days

The proposed project is located on SR 387 (Pinal Avenue), at the intersection with Viola St within the city of Casa Grande in Pinal County. The work consists of the installation of a Pedestrian Hybrid Beacon, ADA ramp improvements, a box culvert extension, and other related work.

Bid Rank	Compared To Department Estimat Option#	Bid Amount	Contractor	Extended Sum of Items
	+%	\$633,661.00	DEPARTMENT ESTIMATE	\$633,661.00
1	-13.5%	\$548,061.75	AJP ELECTRIC, INC. 1920 W. CHERYL DRIVE PHOENIX, AZ 85021-	\$548,061.75
2	-6.6%	\$592,049.50	FALCONE BROS & ASSOCIATE INC. 15885 N. EQUESTRIAN TRL TUCSON, AZ 85739-	\$592,049.50
3	+6.8%	\$676,549.75	C S CONSTRUCTION, INC. 22023 N 20TH AVE SUITE A PHOENIX, AZ 85027-	\$676,549.75
4	+7.6%	\$682,116.50	STANDARD CONSTRUCTION COMPANY, INC. 810 E WESTERN AVE AVONDALE, AZ 85323-	\$682,116.50
5	+17.4%	\$743,752.00	COMBS CONSTRUCTION COMPANY, INC. 1903 WEST PARKSIDE LANE, SUITE #100 GLENDALE, AZ 85027-	\$743,752.00

Winning Bidder is 13.5% Under Department Estimate (Difference = (\$85,599.25))

Printed: 9/23/2025 Page 2 of 15 *** Bid Tabs for Proposal Pamphlet 2024062 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2010002	L.SUM	CLEARING AND GRUBBING (REMO	VE OLEANDERS)			
Bid Rank	Department	Estimate	1.000	\$3,000.000	\$3,000.00	
1	AJP ELECT	RIC, INC.		\$4,000.000	\$4,000.00	+33.3%
2	FALCONE I	BROS & ASSOCIATE INC.		\$10,000.000	\$10,000.00	+233.3%
3	C S CONST	TRUCTION, INC.		\$25,415.000	\$25,415.00	+747.2%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$5,000.000	\$5,000.00	+66.7%
5	COMBS CC	INSTRUCTION COMPANY, INC.		\$20,000.000	\$20,000.00	+566.7%
2020009	CU.YD.	REMOVAL OF STRUCTURAL CONC	RETE			
Bid Rank	Department	Estimate	2.000	\$1,000.000	\$2,000.00	
1	AJP ELECT	RIC, INC.		\$1,000.000	\$2,000.00	+0.0%
2	FALCONE I	BROS & ASSOCIATE INC.		\$1,500.000	\$3,000.00	+50.0%
3	C S CONST	FRUCTION, INC.		\$775.000	\$1,550.00	-22.5%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$5,000.000	\$10,000.00	+400.0%
5	COMBS CC	INSTRUCTION COMPANY, INC.		\$7,000.000	\$14,000.00	+600.0%
2020021	L.FT.	REMOVAL OF CONCRETE CURB AN	ND GUTTER			
Bid Rank	Department	Estimate	179.000	\$50.000	\$8,950.00	
1	AJP ELECT	RIC, INC.		\$12.000	\$2,148.00	-76.0%
2	FALCONE I	BROS & ASSOCIATE INC.		\$10.000	\$1,790.00	-80.0%
3	C S CONST	FRUCTION, INC.		\$28.000	\$5,012.00	-44.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$35.000	\$6,265.00	-30.0%
5	COMBS CC	ONSTRUCTION COMPANY, INC.		\$45.000	\$8,055.00	-10.0%
2020025	SQ.FT.	REMOVAL OF CONCRETE SIDEWA	LKS, DRIVEWAYS AN	D SLABS		
Bid Rank	Department	Estimate	1,798.000	\$20.000	\$35,960.00	
1	AJP ELECT	RIC, INC.		\$7.000	\$12,586.00	-65.0%
2	FALCONE I	BROS & ASSOCIATE INC.		\$4.000	\$7,192.00	-80.0%
3	C S CONST	FRUCTION, INC.		\$6.000	\$10,788.00	-70.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$15.000	\$26,970.00	-25.0%
5	COMBS CC	INSTRUCTION COMPANY, INC.		\$9.000	\$16,182.00	-55.0%
2020036	SQ.YD.	REMOVAL OF ASPHALTIC CONCRE	TE PAVEMENT			
Bid Rank	Department	Estimate	42.000	\$50.000	\$2,100.00	
1	AJP ELECT	RIC, INC.		\$30.000	\$1,260.00	-40.0%
2		BROS & ASSOCIATE INC.		\$27.000	\$1,134.00	-46.0%
3	C S CONST	FRUCTION, INC.		\$30.000	\$1,260.00	-40.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$65.000	\$2,730.00	+30.0%
5	COMBS CC	ONSTRUCTION COMPANY, INC.		\$150.000	\$6,300.00	+200.0%
2020047	EACH	REMOVAL OF SIGNS				
Bid Rank	Department	Estimate	3.000	\$300.000	\$900.00	
1	AJP ELECT	RIC, INC.		\$100.000	\$300.00	-66.7%
2	FALCONE I	BROS & ASSOCIATE INC.		\$300.000	\$900.00	+0.0%

Printed: 9/23/2025 Page 3 of 15 *** Bid Tabs for Proposal Pamphlet 2024062 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020047	EACH	REMOVAL OF SIGNS				
Bid Rank	Department	Estimate	3.000	\$300.000	\$900.00	
3	C S CONST	FRUCTION, INC.		\$287.000	\$861.00	-4.3%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$500.000	\$1,500.00	+66.7%
5	COMBS CO	INSTRUCTION COMPANY, INC.		\$225.000	\$675.00	-25.0%
2030401	CU.YD.	DRAINAGE EXCAVATION				
Bid Rank	Department	Estimate	2.000	\$1,000.000	\$2,000.00	
1	AJP ELECT	RIC, INC.		\$300.000	\$600.00	-70.0%
2	FALCONE I	BROS & ASSOCIATE INC.		\$1,000.000	\$2,000.00	+0.0%
3	C S CONST	FRUCTION, INC.		\$550.000	\$1,100.00	-45.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$4,500.000	\$9,000.00	+350.0%
5	COMBS CO	INSTRUCTION COMPANY, INC.		\$600.000	\$1,200.00	-40.0%
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department	Estimate	12.000	\$350.000	\$4,200.00	
1	AJP ELECT	RIC, INC.		\$180.000	\$2,160.00	-48.6%
2	FALCONE I	BROS & ASSOCIATE INC.		\$100.000	\$1,200.00	-71.4%
3	C S CONST	FRUCTION, INC.		\$375.000	\$4,500.00	+7.1%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$700.000	\$8,400.00	+100.0%
5	COMBS CO	DNSTRUCTION COMPANY, INC.		\$500.000	\$6,000.00	+42.9%
4040125	TON	FOG COAT				
Bid Rank	Department	Estimate	1.000	\$2,000.000	\$2,000.00	
1	AJP ELECT	RIC, INC.		\$2,000.000	\$2,000.00	+0.0%
2	FALCONE I	BROS & ASSOCIATE INC.		\$3,500.000	\$3,500.00	+75.0%
3	C S CONST	FRUCTION, INC.		\$2,250.000	\$2,250.00	+12.5%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$1,200.000	\$1,200.00	-40.0%
5	COMBS CO	INSTRUCTION COMPANY, INC.		\$800.000	\$800.00	-60.0%
4040165	SQ.YD.	BLOTTER MATERIAL				
Bid Rank	Department	Estimate	42.000	\$150.000	\$6,300.00	
1	AJP ELECT	RIC, INC.		\$20.000	\$840.00	-86.7%
2	FALCONE I	BROS & ASSOCIATE INC.		\$50.000	\$2,100.00	-66.7%
3	C S CONST	FRUCTION, INC.		\$8.000	\$336.00	-94.7%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$1.500	\$63.00	-99.0%
5	COMBS CO	DNSTRUCTION COMPANY, INC.		\$6.000	\$252.00	-96.0%
4090003	TON	ASPHALTIC CONCRETE (MISCELLA	NEOUS STRUCTURA	L)		
Bid Rank	Department	: Estimate	14.000	\$750.000	\$10,500.00	
1	AJP ELECT			\$555.000	\$7,770.00	-26.0%
2		BROS & ASSOCIATE INC.		\$500.000	\$7,000.00	-33.3%
3	C S CONS	FRUCTION, INC.		\$1,510.000	\$21,140.00	+101.3%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$550.000	\$7,700.00	-26.7%

Printed: 9/23/2025 Page 4 of 15 *** Bid Tabs for Proposal Pamphlet 2024062 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4090003	TON	ASPHALTIC CONCRETE (MISCELLAI	NEOUS STRUCTURAL)	1		
Bid Rank	Department	Estimate	14.000	\$750.000	\$10,500.00	
5	COMBS CC	NSTRUCTION COMPANY, INC.		\$650.000	\$9,100.00	-13.3%
6070038	EACH	SLIP BASE				
Bid Rank	Department	Estimate	5.000	\$350.000	\$1,750.00	
1	AJP ELECT	RIC, INC.		\$225.000	\$1,125.00	-35.7%
2	FALCONE E	BROS & ASSOCIATE INC.		\$420.000	\$2,100.00	+20.0%
3	C S CONST	RUCTION, INC.		\$435.000	\$2,175.00	+24.3%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$300.000	\$1,500.00	-14.3%
5	COMBS CC	NSTRUCTION COMPANY, INC.		\$650.000	\$3,250.00	+85.7%
6070055	L.FT.	SIGN POST (PERFORATED) (2 1/2 S)			
Bid Rank	Department	Estimate	12.000	\$35.000	\$420.00	
1	AJP ELECT	RIC, INC.		\$20.000	\$240.00	-42.9%
2	FALCONE E	BROS & ASSOCIATE INC.		\$50.000	\$600.00	+42.9%
3	C S CONST	RUCTION, INC.		\$29.000	\$348.00	-17.1%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$20.000	\$240.00	-42.9%
5	COMBS CC	NSTRUCTION COMPANY, INC.		\$85.000	\$1,020.00	+142.9%
6070057	L.FT.	SIGN POST (PERFORATED) (2 1/2 T))			
Bid Rank	Department	Estimate	64.000	\$40.000	\$2,560.00	
1	AJP ELECT			\$40.000	\$2,560.00	+0.0%
2	FALCONE E	BROS & ASSOCIATE INC.		\$45.000	\$2,880.00	+12.5%
3	C S CONST	RUCTION, INC.		\$39.000	\$2,496.00	-2.5%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$25.000	\$1,600.00	-37.5%
5	COMBS CC	NSTRUCTION COMPANY, INC.		\$75.000	\$4,800.00	+87.5%
6070060	EACH	FOUNDATION FOR SIGN POST (CON	NCRETE)			
Bid Rank	Department	Estimate	6.000	\$300.000	\$1,800.00	
1	AJP ELECT	RIC, INC.		\$200.000	\$1,200.00	-33.3%
2	FALCONE E	BROS & ASSOCIATE INC.		\$300.000	\$1,800.00	+0.0%
3	C S CONST	RUCTION, INC.		\$675.000	\$4,050.00	+125.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$550.000	\$3,300.00	+83.3%
5	COMBS CC	NSTRUCTION COMPANY, INC.		\$650.000	\$3,900.00	+116.7%
6080005	SQ.FT.	REGULATORY, WARNING, OR MARK	(ER SIGN PANEL			
Bid Rank	Department	Estimate	122.000	\$45.000	\$5,490.00	
1	AJP ELECT	RIC, INC.		\$50.000	\$6,100.00	+11.1%
2	FALCONE E	BROS & ASSOCIATE INC.		\$28.000	\$3,416.00	-37.8%
3	C S CONST	RUCTION, INC.		\$75.000	\$9,150.00	+66.7%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$45.000	\$5,490.00	+0.0%
5	COMBS CC	NSTRUCTION COMPANY, INC.		\$45.000	\$5,490.00	+0.0%

Printed: 9/23/2025 Page 5 of 15 *** Bid Tabs for Proposal Pamphlet 2024062 ***

	ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
61	10201	L.FT.	METAL HANDRAIL				
Bio	d Rank	Department	Estimate	20.000	\$150.000	\$3,000.00	
	1	AJP ELECT	RIC, INC.		\$200.000	\$4,000.00	+33.3%
	2	FALCONE E	BROS & ASSOCIATE INC.		\$250.000	\$5,000.00	+66.7%
	3	C S CONST	RUCTION, INC.		\$262.000	\$5,240.00	+74.7%
	4	STANDARD	CONSTRUCTION COMPANY, INC.		\$200.000	\$4,000.00	+33.3%
	5	COMBS CO	INSTRUCTION COMPANY, INC.		\$220.000	\$4,400.00	+46.7%
70	10005	L.SUM	MAINTENANCE AND PROTECTION O	OF TRAFFIC			
Bio	d Rank	Department	Estimate	1.000	\$50,000.000	\$50,000.00	
	1	AJP ELECT	RIC, INC.		\$60,000.000	\$60,000.00	+20.0%
	2	FALCONE E	BROS & ASSOCIATE INC.		\$50,000.000	\$50,000.00	+0.0%
	3	C S CONST	RUCTION, INC.		\$50,000.000	\$50,000.00	+0.0%
	4	STANDARD	CONSTRUCTION COMPANY, INC.		\$75,000.000	\$75,000.00	+50.0%
	5	COMBS CO	INSTRUCTION COMPANY, INC.		\$106,000.000	\$106,000.00	+112.0%
70	15052	L.FT.	OBLITERATE PAVEMENT MARKING	(STRIPE)			
Bio	d Rank	Department	Estimate	150.000	\$4.000	\$600.00	
	1	AJP ELECT	RIC, INC.		\$6.500	\$975.00	+62.5%
	2	FALCONE E	BROS & ASSOCIATE INC.		\$20.000	\$3,000.00	+400.0%
	3	C S CONST	RUCTION, INC.		\$7.500	\$1,125.00	+87.5%
	4	STANDARD	CONSTRUCTION COMPANY, INC.		\$15.000	\$2,250.00	+275.0%
	5	COMBS CO	INSTRUCTION COMPANY, INC.		\$7.000	\$1,050.00	+75.0%
70	16067	EACH-DAY	CHANGEABLE MESSAGE BOARD (C	ONTRACTOR FURN	NISHED)		
Bio	d Rank	Department	Estimate	210.000	\$90.000	\$18,900.00	
	1	AJP ELECT	RIC, INC.		\$85.000	\$17,850.00	-5.6%
	2	FALCONE E	BROS & ASSOCIATE INC.		\$65.000	\$13,650.00	-27.8%
	3	C S CONST	RUCTION, INC.		\$62.000	\$13,020.00	-31.1%
	4	STANDARD	CONSTRUCTION COMPANY, INC.		\$25.000	\$5,250.00	-72.2%
	5	COMBS CO	INSTRUCTION COMPANY, INC.		\$35.000	\$7,350.00	-61.1%
70	16079	HOUR	FLAGGING SERVICES (UNIFORMED	OFFICER)			
Bio	d Rank	Department	Estimate	40.000	\$110.000	\$4,400.00	
	1	AJP ELECT	RIC, INC.		\$150.000	\$6,000.00	+36.4%
	2	FALCONE E	BROS & ASSOCIATE INC.		\$150.000	\$6,000.00	+36.4%
	3	C S CONST	RUCTION, INC.		\$165.000	\$6,600.00	+50.0%
	4	STANDARD	CONSTRUCTION COMPANY, INC.		\$145.000	\$5,800.00	+31.8%
	5	COMBS CC	NSTRUCTION COMPANY, INC.		\$90.000	\$3,600.00	-18.2%
70	40005	L.FT.	PAVEMENT MARKING (WHITE EXTR	UDED THERMOPLA	ASTIC) (0.090")		
Bio	d Rank	Department	Estimate	1,020.000	\$3.000	\$3,060.00	
	1	AJP ELECT			\$0.650	\$663.00	-78.3%
	2	FALCONE E	BROS & ASSOCIATE INC.		\$2.000	\$2,040.00	-33.3%

Printed: 9/23/2025 Page 6 of 15 *** Bid Tabs for Proposal Pamphlet 2024062 ***

Compared To Item Unit of Dept Estimate Number Measure **Item Description** Quantity **Unit Price Extended Amount** L.FT. 7040005 PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090") Bid Rank \$3.000 Department Estimate 1,020.000 \$3,060.00 3 C S CONSTRUCTION, INC. \$0.750 \$765.00 -75.0% 4 STANDARD CONSTRUCTION COMPANY, INC. \$0.600 \$612.00 -80.0% 5 COMBS CONSTRUCTION COMPANY, INC. \$1.600 \$1,632.00 -46.7% 7040006 L.FT. PAVEMENT MARKING (YELLOW EXTRUDED THERMOPLASTIC) (0.090") Bid Rank Department Estimate 1,575.000 \$2.000 \$3,150.00 1 AJP ELECTRIC, INC. \$0.650 \$1,023.75 -67.5% 2 FALCONE BROS & ASSOCIATE INC. \$2.000 \$3,150.00 +0.0% 3 C S CONSTRUCTION, INC. \$0.750 \$1,181.25 -62.5% 4 STANDARD CONSTRUCTION COMPANY, INC. \$0.600 \$945.00 -70.0% 5 COMBS CONSTRUCTION COMPANY, INC. \$1.600 \$2,520.00 -20.0% 7040072 L.FT. PAVEMENT MARKING (TRANSVERSE) (THERMOPLASTIC) (ALKYD) (0.090") Bid Rank Department Estimate 2.415.000 \$2.000 \$4,830.00 1 AJP ELECTRIC, INC. \$1.050 \$2,535.75 -47.5% 2 \$2.000 +0.0% FALCONE BROS & ASSOCIATE INC. \$4,830.00 3 \$1.250 C S CONSTRUCTION, INC. \$3,018.75 -37.5% 4 STANDARD CONSTRUCTION COMPANY, INC. \$1.000 \$2,415.00 -50.0% 5 COMBS CONSTRUCTION COMPANY, INC. \$1.450 -27.5% \$3.501.75 7310130 EACH POLE (TYPE Q) Bid Rank Department Estimate 2.000 \$14,000.000 \$28,000.00 1 AJP ELECTRIC, INC. \$12,770.000 \$25,540.00 -8.8% 2 FALCONE BROS & ASSOCIATE INC. \$11,500.000 \$23,000.00 -17.9% 3 C S CONSTRUCTION, INC. \$14,500.000 \$29,000.00 +3.6% 4 STANDARD CONSTRUCTION COMPANY, INC. \$10,000.000 \$20,000.00 -28.6% 5 COMBS CONSTRUCTION COMPANY, INC. \$30,000.00 +7.1% \$15.000.000 7310195 EACH POST (PEDESTRIAN PUSH BUTTON) Bid Rank 1.000 Department Estimate \$2,500.000 \$2,500.00 1 AJP ELECTRIC, INC. \$1,150.000 \$1,150.00 -54.0% 2 -52.0% FALCONE BROS & ASSOCIATE INC. \$1,200.000 \$1,200.00 3 C S CONSTRUCTION, INC. \$1,000.000 \$1,000.00 -60.0% 4 STANDARD CONSTRUCTION COMPANY, INC. -60.0% \$1,000.000 \$1,000.00 5 COMBS CONSTRUCTION COMPANY, INC. \$1,500.000 \$1,500.00 -40.0% 7310310 EACH POLE FOUNDATION (TYPE Q) Bid Rank 2.000 \$6.000.000 \$12,000.00 Department Estimate 1 AJP ELECTRIC, INC. \$8,150.000 \$16,300.00 +35.8% 2 FALCONE BROS & ASSOCIATE INC. \$7.800.000 \$15.600.00 +30.0% 3 C S CONSTRUCTION, INC. \$7,500.000 +25.0% \$15,000.00 4 STANDARD CONSTRUCTION COMPANY, INC. \$9.000.000 \$18,000.00 +50.0%

Printed: 9/23/2025 Page 7 of 15 *** Bid Tabs for Proposal Pamphlet 2024062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7310310	EACH	POLE FOUNDATION (TYPE Q)				
Bid Rank	Department	Estimate	2.000	\$6,000.000	\$12,000.00	
5	COMBS CC	INSTRUCTION COMPANY, INC.		\$6,500.000	\$13,000.00	+8.3%
7310390	EACH	PEDESTRIAN PUSH BUTTON POST	FOUNDATION			
Bid Rank	Department	: Estimate	1.000	\$2,500.000	\$2,500.00	
1	AJP ELECT	RIC, INC.		\$900.000	\$900.00	-64.0%
2	FALCONE I	BROS & ASSOCIATE INC.		\$1,150.000	\$1,150.00	-54.0%
3	C S CONST	FRUCTION, INC.		\$2,195.000	\$2,195.00	-12.2%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$1,250.000	\$1,250.00	-50.0%
5	COMBS CC	DNSTRUCTION COMPANY, INC.		\$500.000	\$500.00	-80.0%
7310561	EACH	MAST ARM (25 FT.) (STRAIGHT OR	TAPERED)			
Bid Rank	Department	Estimate	1.000	\$5,000.000	\$5,000.00	
1	AJP ELECT	RIC, INC.		\$7,770.000	\$7,770.00	+55.4%
2	FALCONE I	BROS & ASSOCIATE INC.		\$7,500.000	\$7,500.00	+50.0%
3	C S CONST	TRUCTION, INC.		\$9,068.000	\$9,068.00	+81.4%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$2,250.000	\$2,250.00	-55.0%
5	COMBS CC	DNSTRUCTION COMPANY, INC.		\$10,000.000	\$10,000.00	+100.0%
7310570	EACH	MAST ARM (30 FT.) (STRAIGHT OR	TAPERED)			
Bid Rank	Department	Estimate	1.000	\$7,000.000	\$7,000.00	
1	AJP ELECT	RIC, INC.		\$8,300.000	\$8,300.00	+18.6%
2	FALCONE I	BROS & ASSOCIATE INC.		\$8,000.000	\$8,000.00	+14.3%
3	C S CONST	FRUCTION, INC.		\$9,680.000	\$9,680.00	+38.3%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$2,500.000	\$2,500.00	-64.3%
5	COMBS CO	INSTRUCTION COMPANY, INC.		\$13,000.000	\$13,000.00	+85.7%
7310650	EACH	MAST ARM (LUMINAIRE)				
Bid Rank	Department	Estimate	2.000	\$100.000	\$200.00	
1	AJP ELECT	RIC, INC.		\$925.000	\$1,850.00	+825.0%
2	FALCONE I	BROS & ASSOCIATE INC.		\$975.000	\$1,950.00	+875.0%
3	C S CONST	TRUCTION, INC.		\$1,350.000	\$2,700.00	+1250.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$900.000	\$1,800.00	+800.0%
5	COMBS CC	DNSTRUCTION COMPANY, INC.		\$1,300.000	\$2,600.00	+1200.0%
7320050	L.FT.	ELECTRICAL CONDUIT (2") (PVC)				
Bid Rank	Department	Estimate	13.000	\$50.000	\$650.00	
1	AJP ELECT	RIC, INC.		\$50.000	\$650.00	+0.0%
2	FALCONE I	BROS & ASSOCIATE INC.		\$70.000	\$910.00	+40.0%
3	C S CONST	TRUCTION, INC.		\$163.000	\$2,119.00	+226.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$60.000	\$780.00	+20.0%
5	COMBS CC	ONSTRUCTION COMPANY, INC.		\$45.000	\$585.00	-10.0%

Printed: 9/23/2025 Page 8 of 15 *** Bid Tabs for Proposal Pamphlet 2024062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7320060	L.FT.	ELECTRICAL CONDUIT (2 1/2") (PVC))			
Bid Rank	Department	t Estimate	19.000	\$65.000	\$1,235.00	
1	AJP ELECT	TRIC, INC.		\$58.000	\$1,102.00	-10.8%
2	FALCONE	BROS & ASSOCIATE INC.		\$70.000	\$1,330.00	+7.7%
3	C S CONS	TRUCTION, INC.		\$168.000	\$3,192.00	+158.5%
4	STANDARI	CONSTRUCTION COMPANY, INC.		\$64.000	\$1,216.00	-1.5%
5	COMBS CO	ONSTRUCTION COMPANY, INC.		\$50.000	\$950.00	-23.1%
7320070	L.FT.	ELECTRICAL CONDUIT (3") (PVC)				
Bid Rank	Department	t Estimate	50.000	\$75.000	\$3,750.00	
1	AJP ELECT	TRIC, INC.		\$63.000	\$3,150.00	-16.0%
2	FALCONE	BROS & ASSOCIATE INC.		\$60.000	\$3,000.00	-20.0%
3	C S CONS	TRUCTION, INC.		\$175.000	\$8,750.00	+133.3%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$55.000	\$2,750.00	-26.7%
5	COMBS CO	ONSTRUCTION COMPANY, INC.		\$55.000	\$2,750.00	-26.7%
7320294	L.FT.	ELECTRICAL CONDUIT (3")(HDPE) (D	IRECTIONAL DRILL)			
Bid Rank	Department	t Estimate	188.000	\$100.000	\$18,800.00	
1	AJP ELECT	TRIC, INC.		\$97.000	\$18,236.00	-3.0%
2	FALCONE	BROS & ASSOCIATE INC.		\$105.000	\$19,740.00	+5.0%
3	C S CONS	TRUCTION, INC.		\$85.000	\$15,980.00	-15.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$135.000	\$25,380.00	+35.0%
5	COMBS CO	ONSTRUCTION COMPANY, INC.		\$115.000	\$21,620.00	+15.0%
7320420	EACH	PULL BOX (NO. 7)				
Bid Rank	Department	t Estimate	1.000	\$2,000.000	\$2,000.00	
1	AJP ELECT	TRIC, INC.		\$1,175.000	\$1,175.00	-41.3%
2	FALCONE	BROS & ASSOCIATE INC.		\$2,200.000	\$2,200.00	+10.0%
3	C S CONS	TRUCTION, INC.		\$2,050.000	\$2,050.00	+2.5%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$2,750.000	\$2,750.00	+37.5%
5	COMBS CO	ONSTRUCTION COMPANY, INC.		\$2,000.000	\$2,000.00	+0.0%
7320421	EACH	PULL BOX (NO. 7) (WITH EXTENSION	I)			
Bid Rank	Department	t Estimate	1.000	\$2,500.000	\$2,500.00	
1	AJP ELECT	TRIC, INC.		\$1,475.000	\$1,475.00	-41.0%
2	FALCONE	BROS & ASSOCIATE INC.		\$2,750.000	\$2,750.00	+10.0%
3	C S CONS	TRUCTION, INC.		\$2,325.000	\$2,325.00	-7.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$3,250.000	\$3,250.00	+30.0%
5	COMBS CO	ONSTRUCTION COMPANY, INC.		\$2,500.000	\$2,500.00	+0.0%
7320510	L.FT.	CONDUCTOR (NO. 10)				
Bid Rank	Department	t Estimate	156.000	\$4.000	\$624.00	
1	AJP ELECT	TRIC, INC.		\$4.500	\$702.00	+12.5%
2	FALCONE	BROS & ASSOCIATE INC.		\$3.000	\$468.00	-25.0%

Printed: 9/23/2025 *** Bid Tabs for Proposal Pamphlet 2024062 ***

Unit of **Compared To** Item Dept Estimate Number Measure **Unit Price Item Description** Quantity **Extended Amount** 7320510 L.FT. CONDUCTOR (NO. 10) Bid Rank \$4.000 Department Estimate 156.000 \$624.00 3 C S CONSTRUCTION, INC. \$5.000 \$780.00 +25.0% 4 STANDARD CONSTRUCTION COMPANY, INC. \$1.750 \$273.00 -56.3% 5 COMBS CONSTRUCTION COMPANY, INC. \$2.500 \$390.00 -37.5% 7320520 L.FT. CONDUCTOR (NO. 8) Bid Rank Department Estimate 363.000 \$10.000 \$3,630.00 AJP ELECTRIC, INC. 1 \$5.750 \$2,087.25 -42.5% 2 FALCONE BROS & ASSOCIATE INC. \$3.500 \$1,270.50 -65.0% 3 C S CONSTRUCTION, INC. \$5.500 \$1,996.50 -45.0% 4 STANDARD CONSTRUCTION COMPANY, INC. \$2.000 \$726.00 -80.0% 5 COMBS CONSTRUCTION COMPANY, INC. \$3.000 \$1,089.00 -70.0% 7320521 L.FT. CONDUCTOR (NO. 8) (INSULATED BOND)(GREEN) Bid Rank Department Estimate 144.000 \$5.000 \$720.00 1 AJP ELECTRIC, INC. \$5.750 \$828.00 +15.0% 2 FALCONE BROS & ASSOCIATE INC. \$3.500 \$504.00 -30.0% 3 C S CONSTRUCTION, INC. \$11.000 \$1,584.00 +120.0% 4 STANDARD CONSTRUCTION COMPANY, INC. \$2.500 \$360.00 -50.0% 5 COMBS CONSTRUCTION COMPANY, INC. \$3.000 \$432.00 -40.0% 7320654 L.FT. CONDUCTORS (IMSA 19-1, 20C) Bid Rank Department Estimate 144.000 \$35.000 \$5,040.00 1 AJP ELECTRIC, INC. \$100.000 \$14,400.00 +185.7% 2 FALCONE BROS & ASSOCIATE INC. \$25.000 \$3,600.00 -28.6% 3 C S CONSTRUCTION, INC. \$20.000 \$2,880.00 -42.9% 4 STANDARD CONSTRUCTION COMPANY, INC. \$22.000 \$3,168.00 -37.1% 5 COMBS CONSTRUCTION COMPANY, INC. \$28.000 \$4.032.00 -20.0% 7320657 L.FT. CONDUCTORS (IMSA 19-1, 4C) Bid Rank 13.000 \$20.000 \$260.00 Department Estimate 1 AJP ELECTRIC, INC. \$150,000 \$1,950.00 +650.0% 2 \$390.00 FALCONE BROS & ASSOCIATE INC. \$30.000 +50.0% 3 C S CONSTRUCTION, INC. \$15.000 \$195.00 -25.0% 4 STANDARD CONSTRUCTION COMPANY, INC. \$12.500 \$162.50 -37.5% 5 +150.0% COMBS CONSTRUCTION COMPANY, INC. \$50.000 \$650.00 7330138 EACH TRAFFIC SIGNAL FACE (TYPE T) Bid Rank 8.000 \$1.300.000 \$10.400.00 Department Estimate 1 AJP ELECTRIC, INC. \$1,520.000 \$12,160.00 +16.9% 2 FALCONE BROS & ASSOCIATE INC. +15.4% \$1.500.000 \$12,000,00 3 C S CONSTRUCTION, INC. \$1,250.000 \$10,000.00 -3.8% 4 STANDARD CONSTRUCTION COMPANY, INC. \$1,250.000 \$10,000.00 -3.8%

Printed: 9/23/2025 Page 10 of 15 *** Bid Tabs for Proposal Pamphlet 2024062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7330138	EACH	TRAFFIC SIGNAL FACE (TYPE T)				
Bid Rank	Department	Estimate	8.000	\$1,300.000	\$10,400.00	
5	COMBS CC	INSTRUCTION COMPANY, INC.		\$1,900.000	\$15,200.00	+46.2%
7330210	EACH	TRAFFIC SIGNAL FACE (PEDESTRIA	N) (MAN/HAND)			
Bid Rank	Department	Estimate	2.000	\$1,500.000	\$3,000.00	
1	AJP ELECT	RIC, INC.		\$880.000	\$1,760.00	-41.3%
2	FALCONE E	BROS & ASSOCIATE INC.		\$800.000	\$1,600.00	-46.7%
3	C S CONST	TRUCTION, INC.		\$675.000	\$1,350.00	-55.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$550.000	\$1,100.00	-63.3%
5	COMBS CC	INSTRUCTION COMPANY, INC.		\$1,100.000	\$2,200.00	-26.7%
7330220	EACH	PEDESTRIAN PUSH BUTTON				
Bid Rank	Department	Estimate	2.000	\$2,800.000	\$5,600.00	
1	AJP ELECT	RIC, INC.		\$868.000	\$1,736.00	-69.0%
2	FALCONE E	BROS & ASSOCIATE INC.		\$850.000	\$1,700.00	-69.6%
3	C S CONST	TRUCTION, INC.		\$935.000	\$1,870.00	-66.6%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$600.000	\$1,200.00	-78.6%
5	COMBS CC	INSTRUCTION COMPANY, INC.		\$1,000.000	\$2,000.00	-64.3%
7330310	EACH	TRAFFIC SIGNAL MOUNTING ASSEM	MBLY (TYPE II)			
Bid Rank	Department	Estimate	4.000	\$900.000	\$3,600.00	
1	AJP ELECT	RIC, INC.		\$150.000	\$600.00	-83.3%
2	FALCONE E	BROS & ASSOCIATE INC.		\$315.000	\$1,260.00	-65.0%
3	C S CONST	TRUCTION, INC.		\$298.000	\$1,192.00	-66.9%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$325.000	\$1,300.00	-63.9%
5	COMBS CC	INSTRUCTION COMPANY, INC.		\$500.000	\$2,000.00	-44.4%
7330360	EACH	TRAFFIC SIGNAL MOUNTING ASSEM	MBLY (TYPE VII)			
Bid Rank	Department	Estimate	2.000	\$1,700.000	\$3,400.00	
1	AJP ELECT	RIC, INC.		\$640.000	\$1,280.00	-62.4%
2	FALCONE E	BROS & ASSOCIATE INC.		\$1,500.000	\$3,000.00	-11.8%
3	C S CONST	TRUCTION, INC.		\$950.000	\$1,900.00	-44.1%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$1,250.000	\$2,500.00	-26.5%
5	COMBS CC	INSTRUCTION COMPANY, INC.		\$1,300.000	\$2,600.00	-23.5%
7330400	EACH	TRAFFIC SIGNAL MOUNTING ASSEM	MBLY (TYPE XI)			
Bid Rank	Department	Estimate	2.000	\$600.000	\$1,200.00	
1	AJP ELECT	RIC, INC.		\$225.000	\$450.00	-62.5%
2	FALCONE E	BROS & ASSOCIATE INC.		\$575.000	\$1,150.00	-4.2%
3	C S CONST	TRUCTION, INC.		\$430.000	\$860.00	-28.3%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$400.000	\$800.00	-33.3%
5	COMBS CC	INSTRUCTION COMPANY, INC.		\$1,000.000	\$2,000.00	+66.7%

Printed: 9/23/2025 Page 11 of 15 *** Bid Tabs for Proposal Pamphlet 2024062 ***

	+26.5% +27.3% +61.7% +13.6% +33.3%
1 AJP ELECTRIC, INC. \$41,750.000 \$41,750.00 +	+27.3% +61.7% +13.6%
, , , , , , , , , , , , , , , , , , , ,	+27.3% +61.7% +13.6%
	+61.7% +13.6%
2 FALCONE BROS & ASSOCIATE INC. \$42,000.000 \$42,000.00 +	+13.6%
3 C S CONSTRUCTION, INC. \$53,350.000 \$53,350.00 +	
4 STANDARD CONSTRUCTION COMPANY, INC. \$37,500.000 \$37,500.00 +	+33.3%
5 COMBS CONSTRUCTION COMPANY, INC. \$44,000.000 \$44,000.00 +	
7340115 EACH PEDESTAL (ELECTRICAL) (METER PEDESTAL/UPS)	
Bid Rank Department Estimate 1.000 \$24,000.000 \$24,000.00	
1 AJP ELECTRIC, INC. \$20,900.000 \$20,900.00 -	-12.9%
2 FALCONE BROS & ASSOCIATE INC. \$22,500.000 \$22,500.00	-6.3%
3 C S CONSTRUCTION, INC. \$22,575.000 \$22,575.00	-5.9%
4 STANDARD CONSTRUCTION COMPANY, INC. \$20,000.000 \$20,000.00 -	-16.7%
5 COMBS CONSTRUCTION COMPANY, INC. \$6,500.000 \$6,500.00 -	-72.9%
7360104 EACH LUMINAIRE (LED)	
Bid Rank Department Estimate 2.000 \$1,500.000 \$3,000.00	
1 AJP ELECTRIC, INC. \$1,150.000 \$2,300.00 -	-23.3%
2 FALCONE BROS & ASSOCIATE INC. \$1,250.000 \$2,500.00 -	-16.7%
3 C S CONSTRUCTION, INC. \$950.000 \$1,900.00 -	-36.7%
4 STANDARD CONSTRUCTION COMPANY, INC. \$1,000.000 \$2,000.00 -	-33.3%
5 COMBS CONSTRUCTION COMPANY, INC. \$1,500.000 \$3,000.00	+0.0%
8101029 CU.YD. EROSION CONTROL (ROCK MULCH) (GRADATION C)	
Bid Rank Department Estimate 2.000 \$700.000 \$1,400.00	
1 AJP ELECTRIC, INC. \$500.000 \$1,000.00 -	-28.6%
2 FALCONE BROS & ASSOCIATE INC. \$1,000.000 \$2,000.00 +	+42.9%
3 C S CONSTRUCTION, INC. \$2,260.000 \$4,520.00 +2	222.9%
4 STANDARD CONSTRUCTION COMPANY, INC. \$750.000 \$1,500.00	+7.1%
5 COMBS CONSTRUCTION COMPANY, INC. \$100.000 \$200.00 -	-85.7%
9010001 L.SUM MOBILIZATION	
Bid Rank Department Estimate 1.000 \$50,000.000 \$50,000.00	
1 AJP ELECTRIC, INC. \$50,000.000 \$50,000.00	+0.0%
2 FALCONE BROS & ASSOCIATE INC. \$75,000.000 \$75,000.00 +	+50.0%
3 C S CONSTRUCTION, INC. \$80,032.000 \$80,032.00 +	+60.1%
4 STANDARD CONSTRUCTION COMPANY, INC. \$95,000.000 \$95,000.00 +	+90.0%
5 COMBS CONSTRUCTION COMPANY, INC. \$80,000.000 \$80,000.00 +	+60.0%
9080084 L.FT. CONCRETE CURB AND GUTTER (TYPE D1)	
Bid Rank	
	-43.5%
2 FALCONE BROS & ASSOCIATE INC. \$60.000 \$9,180.00 -	-29.4%

Printed: 9/23/2025 Page 12 of 15 *** Bid Tabs for Proposal Pamphlet 2024062 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080084	L.FT.	CONCRETE CURB AND GUTTER (T)	YPE D1)			
Bid Rank	Department	Estimate	153.000	\$85.000	\$13,005.00	
3	C S CONST	FRUCTION, INC.		\$100.000	\$15,300.00	+17.6%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$55.000	\$8,415.00	-35.3%
5	COMBS CC	INSTRUCTION COMPANY, INC.		\$60.000	\$9,180.00	-29.4%
9080134	SQ.FT.	CONCRETE VALLEY GUTTER (TYPE	9 CURB AND GUTTE	ER TRANSITION)		
Bid Rank	Department	Estimate	369.000	\$20.000	\$7,380.00	
1	AJP ELECT	RIC, INC.		\$12.000	\$4,428.00	-40.0%
2	FALCONE I	BROS & ASSOCIATE INC.		\$17.000	\$6,273.00	-15.0%
3	C S CONST	FRUCTION, INC.		\$56.000	\$20,664.00	+180.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$25.000	\$9,225.00	+25.0%
5	COMBS CC	ONSTRUCTION COMPANY, INC.		\$20.000	\$7,380.00	+0.0%
9080201	SQ.FT.	CONCRETE SIDEWALK (C-05.20)				
Bid Rank	Department	Estimate	468.000	\$25.000	\$11,700.00	
1	AJP ELECT	RIC, INC.		\$8.000	\$3,744.00	-68.0%
2	FALCONE I	BROS & ASSOCIATE INC.		\$15.000	\$7,020.00	-40.0%
3	C S CONST	TRUCTION, INC.		\$35.000	\$16,380.00	+40.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$15.000	\$7,020.00	-40.0%
5	COMBS CO	INSTRUCTION COMPANY, INC.		\$20.000	\$9,360.00	-20.0%
9080286	EACH	CONCRETE SIDEWALK RAMP (TYP)	E E)			
Bid Rank	Department	Estimate	1.000	\$2,500.000	\$2,500.00	
1	AJP ELECT	RIC, INC.		\$2,600.000	\$2,600.00	+4.0%
2	FALCONE I	BROS & ASSOCIATE INC.		\$4,500.000	\$4,500.00	+80.0%
3	C S CONST	FRUCTION, INC.		\$6,736.000	\$6,736.00	+169.4%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$3,750.000	\$3,750.00	+50.0%
5	COMBS CO	INSTRUCTION COMPANY, INC.		\$6,000.000	\$6,000.00	+140.0%
9080297	SQ.FT.	CONCRETE SIDEWALK RAMP (DETA	AIL A1)			
Bid Rank	Department	Estimate	100.000	\$25.000	\$2,500.00	
1	AJP ELECT	RIC, INC.		\$43.000	\$4,300.00	+72.0%
2	FALCONE I	BROS & ASSOCIATE INC.		\$65.000	\$6,500.00	+160.0%
3	C S CONST	FRUCTION, INC.		\$93.000	\$9,300.00	+272.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$35.000	\$3,500.00	+40.0%
5	COMBS CC	DNSTRUCTION COMPANY, INC.		\$22.000	\$2,200.00	-12.0%
9080299	SQ.FT.	CONCRETE SIDEWALK RAMP (DETA	AIL A2)			
Bid Rank	Department	: Estimate	166.000	\$25.000	\$4,150.00	
1	AJP ELECT			\$25.000	\$4,150.00	+0.0%
2	FALCONE I	BROS & ASSOCIATE INC.		\$42.000	\$6,972.00	+68.0%
3	C S CONST	FRUCTION, INC.		\$104.000	\$17,264.00	+316.0%
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$35.000	\$5,810.00	+40.0%

Printed: 9/23/2025 Page 13 of 15 *** Bid Tabs for Proposal Pamphlet 2024062 ***

Unit of **Compared To** Item Dept Estimate Number Measure **Unit Price Extended Amount Item Description** Quantity SQ.FT. 9080299 CONCRETE SIDEWALK RAMP (DETAIL A2) Bid Rank 166.000 \$25.000 Department Estimate \$4,150.00 COMBS CONSTRUCTION COMPANY, INC. \$24.000 \$3,984.00 -4.0% 9080301 SQ.FT. CONCRETE DRIVEWAY (C-05.20) Bid Rank Department Estimate 443.000 \$35,000 \$15.505.00 1 AJP ELECTRIC, INC. \$13.000 \$5,759.00 -62.9% 2 FALCONE BROS & ASSOCIATE INC. \$17.000 \$7,531.00 -51.4% 3 C S CONSTRUCTION, INC. \$19.000 \$8,417.00 -45.7% 4 STANDARD CONSTRUCTION COMPANY, INC. \$25,000 \$11,075.00 -28.6% COMBS CONSTRUCTION COMPANY, INC. \$21.000 \$9,303.00 -40.0% 9080304 SQ.FT. CONCRETE DRIVEWAY (TIE IN) Bid Rank Department Estimate 660.000 \$30,000 \$19,800.00 1 AJP ELECTRIC, INC. \$13.000 -56.7% \$8,580.00 2 FALCONE BROS & ASSOCIATE INC. \$17.000 \$11,220.00 -43.3% 3 C S CONSTRUCTION, INC. \$19.000 \$12,540.00 -36.7% 4 STANDARD CONSTRUCTION COMPANY, INC. \$25.000 \$16,500.00 -16.7% COMBS CONSTRUCTION COMPANY, INC. \$22.000 \$14,520.00 -26.7% 9170045 **EACH** OUTLET (C-13.76) Bid Rank 1.000 Department Estimate \$5,000.000 \$5,000.00 1 AJP ELECTRIC. INC. \$2.000.000 \$2,000.00 -60.0% 2 FALCONE BROS & ASSOCIATE INC. \$4,500.000 \$4,500.00 -10.0% 3 C S CONSTRUCTION, INC. \$275.000 \$275.00 -94.5% 4 STANDARD CONSTRUCTION COMPANY, INC. \$2,500.000 \$2,500.00 -50.0% COMBS CONSTRUCTION COMPANY, INC. \$5,500.000 \$5,500.00 +10.0% 9201006 SQ.YD. CONCRETE CHANNEL LINING (6") Bid Rank Department Estimate 8.000 \$75.000 \$600.00 1 AJP ELECTRIC, INC. \$225.000 \$1,800.00 +200.0% 2 \$350.000 +366.7% FALCONE BROS & ASSOCIATE INC. \$2,800.00 3 C S CONSTRUCTION, INC. \$770.000 \$6,160.00 +926.7% 4 STANDARD CONSTRUCTION COMPANY, INC. \$295.000 \$2,360.00 +293.3% COMBS CONSTRUCTION COMPANY, INC. \$400.000 \$3,200.00 +433.3% 9240020 L.SUM FORCE ACCOUNT WORK (PROVIDE ELECTRICAL SERVICE) Bid Rank Department Estimate 1.000 \$21,000.000 \$21,000.00 +0.0% 1 AJP ELECTRIC, INC. \$21,000.000 \$21,000.00 2 FALCONE BROS & ASSOCIATE INC. \$21,000.000 \$21,000.00 +0.0% +0.0% 3 C S CONSTRUCTION, INC. \$21,000.000 \$21,000.00 4 STANDARD CONSTRUCTION COMPANY, INC. +0.0% \$21.000.000 \$21,000.00 COMBS CONSTRUCTION COMPANY, INC. \$21.000.000 \$21,000.00 +0.0% 5

Printed: 9/23/2025 Page 14 of 15 *** Bid Tabs for Proposal Pamphlet 2024062 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate			
9240023	L.SUM FORCE ACCOUNT WORK (REESTABLISH IRRIGATION SYSTEM)								
Bid Rank	Department	Estimate	1.000	\$10,000.000	\$10,000.00				
1	AJP ELECTRIC, INC.			\$10,000.000	\$10,000.00	+0.0%			
2	FALCONE BROS & ASSOCIATE INC.			\$10,000.000	\$10,000.00	+0.0%			
3	C S CONSTRUCTION, INC.			\$10,000.000	\$10,000.00	+0.0%			
4	STANDARD CONSTRUCTION COMPANY, INC.			\$10,000.000	\$10,000.00	+0.0%			
5	COMBS CONSTRUCTION COMPANY, INC.			\$10,000.000	\$10,000.00	+0.0%			
9250001	L.SUM	CONSTRUCTION SURVEYING AND	DLAYOUT						
Bid Rank	Department Estimate		1.000	\$8,000.000	\$8,000.00				
1	AJP ELECTRIC, INC.			\$20,000.000	\$20,000.00	+150.0%			
2	FALCONE E	BROS & ASSOCIATE INC.		\$22,000.000	\$22,000.00	+175.0%			
3	C S CONST	TRUCTION, INC.		\$23,957.000	\$23,957.00	+199.5%			
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$32,000.000	\$32,000.00	+300.0%			
5	COMBS CC	ONSTRUCTION COMPANY, INC.		\$75,000.000	\$75,000.00	+837.5%			
2030501 A	CU.YD.	STRUCTURAL EXCAVATION							
Bid Rank	Department	Estimate	4.000	\$1,500.000	\$6,000.00				
1	AJP ELECTRIC, INC.			\$200.000	\$800.00	-86.7%			
2	FALCONE E	BROS & ASSOCIATE INC.		\$500.000	\$2,000.00	-66.7%			
3	C S CONSTRUCTION, INC.			\$550.000	\$2,200.00	-63.3%			
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$500.000	\$2,000.00	-66.7%			
5	COMBS CC	ONSTRUCTION COMPANY, INC.		\$2,000.000	\$8,000.00	+33.3%			
2030506 A	CU.YD.	STRUCTURE BACKFILL							
Bid Rank	Department Estimate		27.000	\$250.000	\$6,750.00				
1	AJP ELECTRIC, INC.			\$200.000	\$5,400.00	-20.0%			
2	FALCONE E	BROS & ASSOCIATE INC.		\$200.000	\$5,400.00	-20.0%			
3	C S CONST	TRUCTION, INC.		\$160.000	\$4,320.00	-36.0%			
4		CONSTRUCTION COMPANY, INC.		\$400.000	\$10,800.00	+60.0%			
5	COMBS CC	DNSTRUCTION COMPANY, INC.		\$300.000	\$8,100.00	+20.0%			
6010002 A	CU.YD.	STRUCTURAL CONCRETE (CLASS	S S) (F'C = 3,000)						
Bid Rank	Department	Estimate	24.000	\$3,000.000	\$72,000.00				
1	AJP ELECT	TRIC, INC.		\$2,300.000	\$55,200.00	-23.3%			
2	FALCONE E	BROS & ASSOCIATE INC.		\$2,200.000	\$52,800.00	-26.7%			
3	C S CONST	TRUCTION, INC.		\$1,233.000	\$29,592.00	-58.9%			
4	STANDARD	CONSTRUCTION COMPANY, INC.		\$3,250.000	\$78,000.00	+8.3%			
5	COMBS CC	ONSTRUCTION COMPANY, INC.		\$1,800.000	\$43,200.00	-40.0%			
6050002 A	LB.	REINFORCING STEEL							
Bid Rank	Department	Estimate	2,733.000	\$4.000	\$10,932.00				
1	AJP ELECT	RIC, INC.		\$3.000	\$8,199.00	-25.0%			
2	FALCONE E	BROS & ASSOCIATE INC.		\$3.000	\$8,199.00	-25.0%			

Printed: 9/23/2025 Page 15 of 15

*** Bid Tabs for Proposal Pamphlet 2024062 ***

Item Number		Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6050002	Α	LB.	REINFORCING STEEL				
Bid Rank		Department Estimate		2,733.000	\$4.000	\$10,932.00	
3		C S CONST	RUCTION, INC.		\$2.250	\$6,149.25	-43.8%
4		STANDARD	CONSTRUCTION COMPANY, INC.		\$2.000	\$5,466.00	-50.0%
5		COMBS CO	NSTRUCTION COMPANY, INC.		\$2.250	\$6,149.25	-43.8%
6050101	Α	EACH	PLACE DOWELS				
Bid Rank		Department Estimate		33.000	\$120.000	\$3,960.00	
1		AJP ELECTRIC, INC.			\$40.000	\$1,320.00	-66.7%
2		FALCONE B	ROS & ASSOCIATE INC.		\$200.000	\$6,600.00	+66.7%
3		C S CONST	RUCTION, INC.		\$87.000	\$2,871.00	-27.5%
4		STANDARD	CONSTRUCTION COMPANY, INC.		\$150.000	\$4,950.00	+25.0%
5		COMBS CO	NSTRUCTION COMPANY, INC.		\$100.000	\$3,300.00	-16.7%